12@0744 (K12a0744)

/\ Linearized knot diagam
8§ 9 12 11 10 2 1 7 6 5 4
/12
Solving Sequence
611»5%12%4ﬁ1610%7ﬁ96368ﬁ2»01707
A knot diagranﬂ Cl1 €4 Ci2 Clo C¢ C9 €3 Cg C2

Ideals for irreducible component#ﬂ)f Xpar

I =W 4 u® 4+ fut1)

* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(@Ww4+u*+.--+u+1)

(i) Arc colorings

ail =
1
a5 — u2
U
a2 = \ud+u

—ul0 — 78 — 16ub — 13u* — w2 + 1
w9 + 6ud + 11u8 + 8u? + 3u?

—ull — 8ud — 2207 — 24ud — 9ud — 2u )

asz =

ag = \ —y13 — 9yt — 20949 — 400" — 22u® — 3ud + u

(—u25 —18u? + -+ 6ud + u)

az = u? +17u® + -+ 5ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes =

—4u?8 — 4427 — 88120 — 84125 —852ut — 772122 —4776u?? —4080u2! — 17160120 —13704u1° —
41328u'® —30524u' " — 6779616 —45664u'® —75468u —45464u3 —55764u? —29136u T —
2612000 — 11080u° — 7012u® — 1872u” — 744u’ + 176u® + 72u* + 96u> + 161> + 4u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
@ WO+ 150+ +u+1
€2, 61 W30 42 4 put 1
c3 W30 2 113
C4,C5,Cq
30 29
C9, €10, C11 u Fu+ o Fu+1
C12
Cg U3O+3u29++39u+21




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 Y+ 4+ 15y + 1
C2,C7 O — 15y .y 1
€3 y*0 + 9y + ... — 261y + 169
C4, C5, Ce
445y . —y+1
C9, €10, C11 Yy Y Yy
C12
c8 30 4+ 13y% + .-+ 2175y + 441




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape

u = —0.170414 + 0.8342141 —5.24114 4 0.432571 —4.60975 + 0.666721
u = —0.170414 — 0.8342141 —5.24114 — 0.432571 —4.60975 — 0.666721
u = —0.294203 + 0.7685691 —3.91612 — 7.017091 —1.64398 + 8.278961
u = —0.294203 — 0.7685691 —3.91612 4+ 7.017091 —1.64398 — 8.278961
u= 0.242623 + 0.7220371 —1.51083 + 2.438741 1.60861 — 4.809181
u=0.242623 — 0.7220371 —1.51083 — 2.438741 1.60861 + 4.809181
u=0.038851 + 1.2909607 —6.26416 + 2.283691 1.00616 — 3.596031
u=0.038851 — 1.2909607 —6.26416 — 2.283691 1.00616 + 3.596031
u= 0.106749 + 1.3757001 —8.52804 + 3.689681 0. —2.692207
u= 0.106749 — 1.3757001 —8.52804 — 3.689681 0.+ 2.692207
u = —0.132490 + 1.3928301 —11.13310 — 8.568391 —3.01367 + 6.287431
u = —0.132490 — 1.3928301 —11.13310 4 8.568391 —3.01367 — 6.287431

u = —0.07468 4 1.415821 —12.80400 — 0.467621 | —5.38297 + 0.1

u = —0.07468 — 1.415821 —12.80400 + 0.467621 | —5.38297 + 0.1
u=0.212525 4 0.5159431 —0.30214 4 1.569021 3.13445 — 6.626091
u=0.212525 — 0.5159431 —0.30214 — 1.569021 3.13445 + 6.626091
u = —0.343660 + 0.3369941 —1.59918 + 2.044791 1.77407 + 0.993211
u = —0.343660 — 0.3369941 —1.59918 — 2.044791 1.77407 — 0.993211
u = —0.431998 + 0.1688561 —1.04292 — 4.610821 4.50728 + 7.351191
u = —0.431998 — 0.1688561 —1.04292 + 4.610821 4.50728 — 7.351191
u= 0.364754 + 0.0879641 0.963752 4+ 0.4207171 10.43938 — 2.377441
u= 0.364754 — 0.0879641 0.963752 — 0.4207171 10.43938 4 2.377441

u= 0.00718 4 1.818451 —17.8624 + 2.47891 0

u= 0.00718 — 1.81845] —17.8624 — 2.47891 0

uw=0.02668 + 1.836061 18.9070 + 4.35011 0

uw=0.02668 — 1.836061 18.9070 — 4.35011 0

u = —0.03325 4 1.839991 16.2143 — 9.39781 0

u = —0.03325 — 1.839991 16.2143 + 9.39781 0

u = —0.01867 + 1.845157 14.3797 — 0.94321 0

u = —0.01867 — 1.845151 14.3797 + 0.94321 0




I1. u-Polynomials

Crossings u-Polynomials at each crossing
“ w0 150+ w1
e u® 4 u® 4 tut
“ w0 — w13
C4,Cs, Co
Cg, C10,C11 U3O+u29+...+u+1
€12
cs w30 £ 3022 4+ ... £ 39u 4+ 21




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 v+ o+ 15y + 1
c2,c7 g =15y + - —y 41
€3 Y30+ 9y + - — 261y + 169
C4,C5, Co
€9, €10, C11 y U A5y 4y 1
C12
c8 yP0 4+ 13y* + .-+ 2175y + 441




